19. a) (AN B) = (~o00;-2)U{0;00), A"\ B' = (4;00)
b) (ANB) =(-1;2)u(4;00), A"\ B"=(5;6)

20. a) AUB=(~00;1/3), AnB=(0;3), AN B=(-00;0)
b) AuB=(1;4), AnB=(3;4), ANB={4}
21. AUB=R, AnB=(3;1), A'nB'=0
22. AN B=(-3;5)
24. a) x€ {-4,4} b) brak rozwigzan
c) xe€{-6,-2,0,4} d) x=3
e} xe{-3.3} f)x=0
25. a) x € (—o00;—8) U (—2;2) U (8;00)
b) xe(—%;oo) c) xeR d) xe€(—00;0)
e) x¢€ (-%;oo) f) xe(—oo-—g)
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26. a) x¢€ (—%;% b) x € (—o0;-2) U (2;00)
27, we (-3
28. me(1;00)
29. Y4
1




30. YW

Zestaw B - odpowiedzi
1.A 2C3.B4.C5D 6.C7.D 8D 9.B

Zestaw C - odpowiedzi Zestaw D - odpowiedzi
1. 355 (m =237, n=-118) 1. ab> b2
2' 222(" 15) 3. c<a<b<d
: b= %6
4. 210 10. x€(-2;3)
5. 828 (r=2v/2-2) M. xe(-31)
6. 153 (n '-'-""153) 12. a) =1, %=1
7. 585 (a=585) b) me(—4;0) U (0;4)



